

## Divide by Negative Powers of Ten (E)

Find each quotient.

$$2,9327 : 10^{-1} =$$

$$0,425 : 10^{-3} =$$

$$8,253 : 10^{-1} =$$

$$5,916 : 10^{-3} =$$

$$0,727 : 10^{-2} =$$

$$4,527 : 10^{-1} =$$

$$5,173 : 10^{-3} =$$

$$3,8 : 10^{-2} =$$

$$8,6 : 10^{-2} =$$

$$2,71 : 10^{-3} =$$

$$0,964 : 10^{-3} =$$

$$6,047 : 10^{-3} =$$

$$0,617 : 10^{-3} =$$

$$0,118 : 10^{-2} =$$

$$0,6 : 10^{-3} =$$

$$6,637 : 10^{-3} =$$

$$8,7 : 10^{-2} =$$

$$4,349 : 10^{-1} =$$

$$9,3797 : 10^{-3} =$$

$$4,29 : 10^{-3} =$$

## Divide by Negative Powers of Ten (E) Answers

Find each quotient.

$$2,9327 : 10^{-1} = 29,327$$

$$0,425 : 10^{-3} = 425$$

$$8,253 : 10^{-1} = 82,53$$

$$5,916 : 10^{-3} = 5.916$$

$$0,727 : 10^{-2} = 72,7$$

$$4,527 : 10^{-1} = 45,27$$

$$5,173 : 10^{-3} = 5.173$$

$$3,8 : 10^{-2} = 380$$

$$8,6 : 10^{-2} = 860$$

$$2,71 : 10^{-3} = 2.710$$

$$0,964 : 10^{-3} = 964$$

$$6,047 : 10^{-3} = 6.047$$

$$0,617 : 10^{-3} = 617$$

$$0,118 : 10^{-2} = 11,8$$

$$0,6 : 10^{-3} = 600$$

$$6,637 : 10^{-3} = 6.637$$

$$8,7 : 10^{-2} = 870$$

$$4,349 : 10^{-1} = 43,49$$

$$9,3797 : 10^{-3} = 9.379,7$$

$$4,29 : 10^{-3} = 4.290$$